> bR

TD—Hl

( SV:60,000/h, 77tz b>-:300ppm, Air balance )

2 | /-
80 |
— Catalyst : D3PT*S26C
70 L
.O\i. 60 |
{&é{- 50 |
b 40 |
30 |
20 |
OISRt FREMSG. FRRBECKIDT—HE (I BeHBETELTDOT—F T,
10 |
ﬁﬁ‘ﬁi%ﬁ%"—ﬂt
0
160 180 200 220 240 260 280 300 320 340 360
AR A LLRE [°C]
. — _ : IRFPEFR mE R
YL, 5348 {2 TR B et 000pme@aeCAr
(B%) (B%) (B%)
7tk g CsHeO CHsCOCHs5; 56°C 2.2% 61°C

DIVEE - SV - EEEEREZTS FO—ILIT DT ECKDREMERDFEERZ S S(C LITIRFTETE
FI. WBMEOHXEZFCDOVWTEFRRYU1—23> [HIHRFMEAE] OR—EZELLEEUN,
FULSFEBHFTEEEESZE.



